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Question Id : 6326864993 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0
Question Numbers : (1 to 20)

(i) Data Sufficiency (Marks: 20)
CSTPOF DHT§a0ed (c0°uge0: 20)



Note: In questions numbered 1 to 20, a question is followed by data in the form of
two statements labelled as (1) and (11). You must decide whether the data
given in the statements are sufficient to answer the questions. Using the data
make an appropriate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) if the statement (I) alone is sufficient to answer the question,
but (Il) does not answer the question.

(b)Mark choice (2) if the statement (I} alone is sufficient to answer the
question but (I) does not answer the question.

(c) Mark choice (3) if both the statements (I) and (Il) are sufficient to answer
the question but neither statement alone is sufficient.

(d)Mark choice (4) if both the statements (1) and (lI) together are not sufficient
to answer the question and additional data is required.

Btded: 1 00B 20 385 AD S D3 (D3 S 2.8 1D9), = (Bod |, Il &
den o Todh 1DSHTren STodorr wdsRTOW. WW)ID
AT0FR)) GoaOIFAoD), ADID (DODTeN (D950 DT,
D 0NE JTETen ©HTOr Do @ D% ATooTd. &
QG50 (B0B PS8 SrEren edG3rAod (1) od (4) H6% 50
0N B2 DoE TOHOG.

(@) (%350 DAFEW0 WD IONHY (DSWBNO (1) S Ed D Dorraow, (II) D
DTS [OEFS 20 2araw (1) I HdoSod.

(b) 194250 DAFEW0 BT JODED (DSWBNO () Sredad DT ow, (1) D
DAF TN S LB 2 =ay2w (2) 1 ot ob.

(€) 109150 DIrE S0 /T HIoH 1DSSTen (1), (1) 0 JogddHon
00 &) 28363 Erm Ho°ER0 SESFS D 2w (3) T Hlotod.

(d) 129450 Q0 BT I00EL [(Dasaren (1), () o Srae Horid0 528
@355 BTP0F0 @95DBD0NS 2 23720 (4) T Hdosod.

Sub questions

Question Number : 1 Question Id : 6326864994 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the value of x + v + z7

x+y+z OBNE) D) DOEH?

() 3x—y+2z=5

() x+5y+2z=10

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 2 Question Id : 6326864995 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ll " " " | - .
If x, v are positive integers, is \/x% 4+ v* an integer?

X,y €0 B3 FTOSTBSB, [x2 +y? 28 FT050)onT ?

(N ey =12 2.

(I) x4+ yisamultiple of 7.

x+y e 78 8 hedo.

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 3 Question Id : 6326864996 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Is the positive integer n divisible by 4627

368 PTPOE0 n @O 462 T (NF00MM) 2rRoDN2 e 0T ?

) 715 divides n.
n & 715 2780 0A.

(I 210 is a factor of n.

n 50 210 2,8 520,080,

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 4 Question Id : 6326864997 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is height of the cylinder?

€8 ATPN0 )R DOES ?

1) Volume of the cylinder is 48cm?.

€3 A0 BNEY NS DB 48 0. 3,

() The lateral surface area of the cylinder is 28cm?.

€3 C°D0 (D825 JF°E50 28 0. a0

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 5 Question Id : 6326864998 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If x and y are integers then is z an even integer?

X SNBAD ¥ €0 FJPTUOSTOHONB, z 2.8 DBD0WS YO ?

0 z=(@x+y)>

(I z=2x+4y.

Options :
1. %1

2.¥2
3.%3



4. % 4

Question Number : 6 Question Id : 6326864999 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a, b, c are integers,isa < b ?

a,b,c ©0 JTOSTO0NB, a < b )BT ?

() a’+b*+c*=0.

m b<a+ec

Options :
1.9 1
2.% 2
3.% 3
4, % 4

Question Number : 7 Question Id : 6326865000 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the cost of erecting a fence around a rectangular field?

28 O DRSS T 0O 50T JAEE @dDs )
) OEd?

() The area of the field is 24000 square meters.
€3 S 650 BF" L0 24000 THEB5Y) aDEID.

() The cost of fencing Rs.150 per meter.
2.8 % 50T SaAnrdy edds ) &°.150.

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 8 Question Id : 6326865001 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If m, n are positive integers greater than 4, then what is the value of

m+n?

m,n ) ) PTO5Pen 9687 4 35 DOSB, m + n BNE), DeENsd

a

o)Oed ?

() mn = 48.

Options :



1.1
2. %2
3.% 3
4. % 4

Question Number : 9 Question Id : 6326865002 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the common ratio of the Geometric Progression?

3 (DBR DmIDS D)E DO ?

() The sum of the first four terms is 80.

S05¢3 Trenth Hored Snedo 80.

(I} The first and fourth terms are 2 and 54 respectively.

00C5E3 DB T DTTEN DI 2 B 54.

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 10 Question Id : 6326865003 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the positive integral value of x?

X @R A IJT0E DeNed D0eH?

) BReTEET<TL

Al 25 #x® <8l

Options :

1.v1

2. %2

3.% 3

4. % 4

Question Number : 11 Question Id : 6326865004 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the selling price of the sofa?

Far Q308 @50 O )0ed?

(h The marked price of the sofa is Rs.7500.
Far QBWE, 105E3ed Jed B 7500.

(1) The profit the merchant gets by selling the sofa is Rs.900.
e Frad @60 rfor chserordocd G900 erdo
SPOCHEr .

Options :
1. %1
2. %2



3.%3
4.4 4

Question Number : 12 Question Id : 6326865005 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the present age of the person A ?

2358 A C0EY (29N EH 5D ) DOEH?

Y
2l —o

()  Today is A's birthday.
& B2 A B0EY BOS0.

(I)  After one year he will be twice as old as he was ten years ago.

A,

28 0SB IB0 HHared @6 HOND) ®IE DA

D055 YT (8650 96 29050 )50 BEI0).

[

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 13 Question Id : 6326865006 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the area of the circle?

D)€ DT F0ES?

() The circle circumscribes a square of area 49 cm?.
€3 590 49 0.2 JF0 e 2.8 B0
HBIYB0 TYOA.

() The circle is inscribed in a triangle of area 48cm?.
&3 5950 48 V0.2 T30 (i 2.8 |BH20S
20530V GL0D.

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 14 Question Id : 6326865007 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How many marks did he get in Mathematics?

He3650¢5" @650 SPOBS B ?

()  The average of his marks in Mathematics, Physics and
Chemistry is 79.
1E3€50, a3 E F Q0 DB BTONS TR0 O e
23020 AED 79.

(I)  The average of his marks in Mathematics and Chemistry is 72.
3650 SDBAH® BroHI TR0 O @ HEED
2*CD2.eN 72.

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 15 Question Id : 6326865008 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Is f(x) an even function?

f(x) 28 06 [DDON0 )0 T?

M Ff)=glk)t+gl—x)xER

() gx)=cosx,x€R

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 16 Question Id : 6326865009 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How many people are there in the queue between two persons

AandB?

B[O S5550eN A 8GN B © 0¢85 B85 S D0h06 Serdk?

(h A is the 157 from the end of the line.

83 SIS DIBDOB 1585 558 A.

(I B is in the centre of the line and there are 10 more ahead of

him.

5065 B 6306956 G0CHEI) 58 965D SANOCHTT IS
DT 10 00O Eexdd.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 17 Question Id : 6326865010 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0



In a Carrom Board game of doubles played by four players A, B, C and D,

who is sitting opposite to A ?

28 PSR DD THIG B0 Sewthh  esemTeds
A B,C o080 Den e3¢Hehdad) 2.8 52550 S e56r¢S A 50 DO
5570 ) Toao?

() B is sitting opposite to D.
D 50 QDGO B 8500 )oo™) C.

(Il Cis sitting facing North.
&G BBV)50 @DANDOMT C 53¢ Jeo™) ¢.

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 18 Question Id : 6326865011 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In a queue of 20 people waiting at the counter what is the position of A

from the end of the line?

2.8 TOOB 3 575 S DB ENQG) 20 SH0AS” DSIE Hod A
T 0 DOEH?

) B is the fifth person in front of A from A.
A B0 500N 958 A DO B 59658 ToCH.

(Il B is eighteenth person from the end of the line.

8078 S DIBDHOE ITINEIS 558 B.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 19 Question Id : 6326865012 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Will it be Friday tomorrow?

3 DB B2

()  Day before yesterday is Tuesday.
SN 0TI G0.

(1) Sunday is a holiday.

e3OIG0 2,8 VYDS0.

Options :
1.¥1
2. %2
3.% 3
4. % 4

Question Number : 20 Question Id : 6326865013 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :



Four boys A,B,C,D sit around a round table side by side facing the

centre of the table. Then who sits to the left of B?

QENMHG 2ren A, B, C, D &0 2,8 )T 570 20O oY 2,58 |08
2,50 30|78 @9DANPOMT S )™ 0. €959 )¢ B B0 o)
) Baa0?

1)) B and C face each other and A sits between B and C.
B 208050 C 20 JEBCOBIT 53T )T B, C © oGS
A 5580 Yoo .

(1) D sits to the right of C and sits opposite to A.
A B0 QDB Brdd 1) D @006 C 50 B0 ad)ed

537D Joor) €.
Options :
1. %1
2.¥2
3.%83
4. % 4
Sub-Section Number : 2
Sub-Section Id : 632686554
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6326865014 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 SBH 0 [HFLOS DSBS’ Both 2 (@ETe B
95 T°® N0 HoPEO) JTeTFen 0. 8 BdS EDDODS
% €20 HTE 2655 8 T30t GOLNOD. & F e 2
100D POD B 73S S 80d0k.

CAM : USE 7 SAT :

(1) KSL
(2) MOJ
(3) L1TR
4) JRM

Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 22 Question Id : 6326865015 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 SBH 0 [HFLOS DSBS’ Both 2 (@ETe B
95 T°® N0 HoPEO) JTeTFen 0. 8 BdS EDDODS
% €20 HTE 2655 8 T30t GOLNOD. & F e 2
100D POD B 73S S 80d0k.

FlG - KNL = 58ET
(1) XKY
(2) XJZ
(3) XJY
4) XIJA
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 23 Question Id : 6326865016 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 SBH 0 [HFLOS DSBS’ Both 2 (@ETe B
95 T°® N0 HoPEO) JTeTFen 0. 8 BdS EDDODS
% €20 HTE 2655 8 T30t GOLNOD. & F e 2
100D POD B 73S S 80d0k.

DBCE : QOPR = JLKI:

(1) YWXU
(2) WYXV
(3) WXYV
(4) WYVK

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 24 Question Id : 6326865017 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 SBH 0 [HFLOS DSBS’ Both 2 (@ETe B
95 T°® N0 HoPEO) JTeTFen 0. 8 BdS EDDODS
©% €20 HTE 2655 S T30t ) GoLN0D. & ©f e 2
100D POD B 73S S 80d0k.

SOME : + WHAT : CRYF

(1)  GLMU
(2) GKMV
(3) GKNU
4) GKMU

Options :
1. %1
2. %2
3.% 3
4. ¥ 4

Question Number : 25 Question Id : 6326865018 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 SBH 0 [HFLOS DSBS’ Both 2 (@ETe B
95 T°® N0 HoPEO) JTeTFen 0. 8 BdS EDDODS
©% €20 HTE 2655 S T30t ) GoLN0D. & ©f e 2
100D POD B 73S S 80d0k.

PCD -SG5 BKS -
i1l | ERR
(2} CLY
31 EPX
(4) EOX
Options :
1. %1
2. %2
3.% 3
4. ¥ 4

Question Number : 26 Question Id : 6326865019 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 SBH 0 [HFLOS DSBS’ Both 2 (@ETe B
95 T°® N0 HoPEO) JTeTFen 0. 8 BdS EDDODS
©% €20 HTE 2655 S T30t ) GoLN0D. & ©f e 2
100D POD B 73S S 80d0k.

LEGY : IBD4 :: SIX24 :

(1) QFU21
(2] PRV22
(3] PRJ22Z
(4) PFU21

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 27 Question Id : 6326865020 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 SBH 0 [HFLOS DSBS’ Both 2 (@ETe B
95 T°® N0 HoPEO) JTeTFen 0. 8 BdS EDDODS
©% €20 HTE 2655 S T30t ) GoLN0D. & ©f e 2
100D POD B 73S S 80d0k.

LO12QT : PS2UX :: BE7FT :

(1) FI23IX
(2) Gl24IX
(3) FI23JX
(4) FI22JX

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 28 Question Id : 6326865021 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 SBH 0 [HFLOS DSBS’ Both 2 (@ETe B
95 T°® N0 HoPEO) JTeTFen 0. 8 BdS EDDODS
©% €20 HTE 2655 S T30t ) GoLN0D. & ©f e 2
100D POD B 73S S 80d0k.

12@22 : 14524 = - 18(W)28

(1) 16(1)26
(2) 15(0)25
3) 15025
4) 16026

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 29 Question Id : 6326865022 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 S8%0 #0 [HFOS DSBS’ Both 2 (@ETe B
@5 T°® N0 DoWED) JduTeTen 0. d BBS EDDODDS
8 €20 HTE 2SI T30t ) GOV, & O f 7)) ST
100D 2PPD DS 73S S B80d0k.



Y 650 :: XW :

(1) 512
(2) 552
(3) 612
(4) o642

Options :
1. % 1

)
3.%3
4. % 4

Question Number : 30 Question Id : 6326865023 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

21-30 H5B5 ) 1DFOS (HBFAS’ Boch 2de (@Eore S
@98 T°® N0 S0WED) JTeTFen 0. 8 BBS EDHODS
© 8 €0 HTE 2SS re30trd)) S0LN0D. & e f Q) S
100D FPOD B 73S Sr800A.



MAT : 200113 : TOE :

(1) 150520
(2) 201505
(3) 052015
(4) 051520
Options :
1. %1
2. %2
3.8 3
4.9 4
Sub-Section Number : 3
Sub-Section Id : 632686555
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6326865024 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note : In questions numbered 31 to 35 pick the odd thing out.

(10DE 1 31 DO 35 HBB e 1HF10T J8FOIS HBothdw.

2343, 15 11%,.057213, 273

i3 157
(2) 213
31 273
4) 111

Options :

1. %1

2.¥2

3.% 3

4. % 4



Question Number : 32 Question Id : 6326865025 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.
(10DE 1 31 DO 35 HBB e 1HF10T J8FOIS HBothdw.

Hen, Crow, Pigeon, Eagle, Sparrow, Vulture, Parrot, Dove

(1)  Pigeon
(2) Crow
(3) Hen
(4) Eagle

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 33 Question Id : 6326865026 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note : In questions numbered 31 to 35 pick the odd thing out.

H1e0QE 1 31 OB 35 HEH K1 (D105 HBFOIS tH8otHw.



Crow, Dog, Hen, Duck, Dove, Eagle, Peacock

(1) Crow
(2) Dog
(3) Hen
(4) Duck

Options :

1. % 1

2.¥2

3.% 3

4, % 4

Question Number : 34 Question Id : 6326865027 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.
(1e0DE 1 31 DO 35 HBB e 1HF10T HBFOIS HBochdw.

30, 120, 180, 270, 480, 750, 1080

(1) 120
(2) 180
(3) 270
(4) 750

Options :

1. %1

2.¥2

3.% 3

4. % 4



Question Number : 35 Question Id : 6326865028 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing out.
(10DE 1 31 DO 35 HBB e 1HF10T J8FOIS HBothdw.

Venus, Neptune, Uranus, Mercury, Titan, Earth, Jupiter

(1) Mercury
(2) Titan
(3) Earth
(4) Jupiter
Options :
1. %1
2.9
3.% 3
4. % 4
Sub-Section Number : 4
Sub-Section Id : 632686556
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6326865029 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(a8 136 DO 45 SO50 K (D960 2,8 DD IR AODSNTVY
FEIDT oM. 8 AANIT) HDA0D JBORH ddrTaorerd
29O JOOD0A.



5, 10,117,268, 5005

(1) 35
(2) 36
3y BF

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 37 Question Id : 6326865030 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o8 36 A0 45 SBZL M) (D360 2.5 DD IS AODITV)
EIDT oM. 8 AANIT) HHA0D DBANH ddrTarerd
2P DD JO0TH0A.

2.6, 12, 20, 42,56, 12

(1) 27
(2) 29
(3) 30
4) 39

Options :

1. %1

2. %2

3.3

4. % 4



Question Number : 38 Question Id : 6326865031 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

eDE 136 DO 45 SA5 He (DFe0 2,8 PO YA AODAITVY
DT ION. 8 AANAT) HDA0D JBOHH ddrTrorerd
2D JOOD0H.

(1++2),-1,(-14++2),(-3 + 2v2), , (17 + 12v/2),

(—41 + 29v2)

(1) (—? + 5»’5)
2) (-9+3V2)
3) (-11+7v2)

4) (—15+9V2)

Options :
1.¥1
2. %2
3.%83
4, % 4

Question Number : 39 Question Id : 6326865032 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(a8 136 DO 45 SO50 K (D960 2,8 DD IR AODSNTVY
FEIDT oM. 8 AANIT) HDA0D JBORH ddrTaorerd
29 JOOH0S.



i Sl 3 "
612!6J 6! 2! r
(1) 12
3
(2) l;
2
(3) 15
1
(4) 1;
Options :
1.¥1
2. %2
3.%83
4, % 4

Question Number : 40 Question Id : 6326865033 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(a8 136 DO 45 SO50 K (D960 2,8 DD IR AODSNTVY
DEINTION. 8 AANIT) HDA0D JBORH dIrTraorerd
29O JOOD0A.

0, 6, 24, 60, . 210, 336
(1) 120
(2) 148
(3) 184
4) 196
Options :

1.¥ 1



2. %2
3.%3
4. % 4

Question Number : 41 Question Id : 6326865034 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o0E 36 A0 45 DOZL M (D360 2.5 DD IS AODIT)
EIDT oM. 8 AANIT) HHA0D DBANH ddrTarerd
2P DD JO0TH0A.

1,120, 24, 120, 720,

(1) 5460
(2) 4640
(3) 5040
(4) 6040

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 42 Question Id : 6326865035 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

eDE 136 DO 45 SA5 He (DFe0 2,8 PO YA AODAITVY
FEDTI0N. 8 AANATFD) HDAOD HBOHH ddrrared
2D JOOD0H.



10, 30, 150, ., 11550, 150150

(1) 1050
(2) 10050
(3) 10150
(4) 11050

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 43 Question Id : 6326865036 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

eDE 136 DO 45 SA5 He (DFe0 2,8 PO YA AODAITVY
DT ION. 8 AANAT) HHA0D JBORH ddrraorerd
29O JOOD0S.

2r 4: 1.'5.' Dr 61_1.'—
(1) 7
(2) 8
&) 9
4) 10
Options :

1.¥1



2. %2
3.%3
4. % 4

Question Number : 44 Question Id : 6326865037 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o0E 36 A0 45 DOZL M (D360 2.5 DD IS AODIT)
EIDT oM. 8 AANIT) HHA0D DBANH ddrTarerd
2P DD JO0TH0A.

6,8.5 9410 3,

(1) 12
=3 H
3 9
“4) 8

Options :

1. %1

2.¥2

3.%3

4, % 4

Question Number : 45 Question Id : 6326865038 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

eDE 136 DO 45 SA5 He (DFe0 2,8 PO YA AODAITVY
DT ION. 8 AANAT) HHA0D JBORH ddrraorerd
29O OO0,

2 2 4 4

= el i

(=
6
0 . ey
B T
4
4 Iz
Options :
1. %1
2.%2
3.% 3
4. % 4
Sub-Section Number : 5
Sub-Section Id : 632686557
Question Shuffling Allowed : Yes

Question Id : 6326865039 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (46 to 48)

(b) Data Analysis (Marks : 10)
SSEr0d D3N (S57°¢50p.e : 10)



The table gives the data of the sales (in crores of rupees) in one year of
four companies |, I, lll, and IV dealing with same type of electronic
items in five major cities A, B, C, D and E. Based on the data answer the

questions from 46 to 48.

20650 D SHOBS 4, B, C,D 08050 E O aeentd $0dew |, 11,
11l SH805W IVED 2.8 D030 2.8 BERS DO TIE ) SN ye>
955025°050 HODOH0D) DST=eN (K. SEIS) (8o HEIE

QoI £,

S8 OOTP0F0 SO0 46 DO 48 HG5L (o |DF) %0

IV I
Company
; S0 I Il 11 IV

City

~fido
A 35 525 225 475
B 400 500 275 525
& 450 550 325 475
D 425 25 350 550
E 450 550 375 625

Sub questions

Question Number : 46 Question Id : 6326865040 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST04 D3N (S0 : 10)



Taking into consideration the total sales of all the companies in all the

cities what is the percentage of sales of Company-I?

) KT @) 0D TNBO @ ITOD BELSE

BNZ0T) 02D | TBE), €955 FHOCH?

(1) 23;
2
(2) 2?;
(3) 29.0
1
4) 31
Options :
1.¥1
2. %2
3.%83
4, % 4

Question Number : 47 Question Id : 6326865041 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST 0F DB (S0 : 10)



In all the cities put together which company recorded the maximum

sales in that year?

0 SHTS D @050 GRS GotHHI0D), 2 oA o

D0IB B0 ©9e55EE ©9555°0eD STICD TROE?

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 48 Question Id : 6326865042 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST 0F DB (3770 : 10)



Of all the companies put together what is percentage increase of sales

of the products in the city E compared to the City A?

SHB0 A S FOW, Q) S0eN EAD E SHB0S ST DS

2955075706 DM TS 0ed?

(1) 25%%

1
(2) 257 %

(3) 25%
4) 26%
Options :
1. %1
2. %2
3.¥3
4. % 4
Sub-Section Number : 6
Sub-Section Id : 632686558
Question Shuffling Allowed : Yes

Question Id : 6326865043 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (49 to 51)

(b) Data Analysis (Marks : 10)
ST0F DB (5770 : 10)



The following pie-chart shows the expenditure of a family. Based on

this information answer the questions from 49 to 51.

2.8 50600200 TB0E, DK IO (0B D D0 e od. A
eSS0 49 DO0G 51 S50 (10 (D9 O DTN}

CLOTHING 20°

SAVING 60°
FOOD 120°

MISCELLANEOQUS

3o’

DLICATI <
EDUCATION 70 RENT 60°

| 95580 FOOD 120°
| &3 RENT 60°
| DAg EDUCATION 70°
| @e8S2wexn | MISCELLANEOUS | 30°
| P SAVING 60°
| Socven | CLOTHING 20°

Sub questions

Question Number : 49 Question Id : 6326865044 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
SErod D3N (577500 ¢ 10)



How much (in rupees) the family can save if the total income is 72000

rupees’?

SN0 o0 G72000 ©ONSD, & FEVODO DN P
SINB0 (Br.eS) Joeh?

(1) 12000
(2) 11000
(3) 12500
(4) 11500

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 50 Question Id : 6326865045 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST 0F DB (S0 : 10)



The percentage of expenditure on food is
e3:.3°30 2 P ) F°EBO

(1) 352%
() 34%
(3) 33?%

4) 35%

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 51 Question Id : 6326865046 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST 04 DIND (5700 : 10)



If the total income of the family is Rs.144000, then the amount (in

rupees) spent by family on Rent and Education is

es 500020 TNE) eTONO §58 8557144000 @OowS, Q0¢S 0l
SHBAD DS BOGOEID DB D) (Br.oeS)

(1) 56000
(2) 51000
(3) 54000
(4) 52000
Options :
1. % 1
2. %2
3.8 3
4.9 4
Sub-Section Number : 7
Sub-Section Id : 632686559
Question Shuffling Allowed : Yes

Question Id : 6326865047 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (52 to 55)

(b) Data Analysis (Marks : 10)
ST04 D3N (S0 : 10)



In a group of 100 persons, each reads at least one among three news
papers T, E and H, 8 read all the three, 20 read both T and E, 18 read
both E and H and 14 read both T and H, 60 read E and 46 read T. Based

on this data, answer the questions 52-55.

100 sH0E $5506 HeTT0S” 93 2,858 FchH T HBEew T,
E, H oS 500 2.8 T 9C0JeE. 8 H0d Srdoedd;
20o008 T, E ©dD; 18 s00A E D8G5 H &D; snB80im 14 H0o& T
QDB H ) 290&E. E Q 60 D0 D8O T Q 46 oD0OE

A eSS0 52 DO 55 5GD fe) 134180 QDerrermredn].

Sub questions

Question Number : 52 Question Id : 6326865048 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST 0F DB (3770 : 10)



How many persons read only H?

H o 230769530 05008 w9 n?

(1) 16
(2) 14
3) 17
4) 18

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 53 Question Id : 6326865049 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST 0F DB (S0 : 10)



How many persons read exactly two among the three E, T and H?

DOes 000 e E, T SHOGM H oS O8I BoBoe3 &r(edsh

BedEy?

(1) 28
(2) 26
(3) 32
(4) 34

Options :

1.v¥1

2. %2

3.%3

4. % 4

Question Number : 54 Question Id : 6326865050 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

(b) Data Analysis (Marks : 10)
ST04 D3N (S0 : 10)



The ratio between the number of persons who read Eand T is

E &0 9O 35500 Qo®SE0 0O T oD IO 53550 Do 5y
e DS

Al 2020
(2) 5:4
3] 30:23
4) 24:.23

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 55 Question Id : 6326865051 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)
ST 0F DB (3770 : 10)



The percentage of persons who read T is

T & HOB 8 b0

(1) 42
(2) 48
(3) 44
(4) 46
Options :
1. % 1
2. %2
3.% 3
4.9 4
Sub-Section Number : 8
Sub-Section Id : 632686560
Question Shuffling Allowed : Yes

Question Id : 6326865052 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (56 to 60)

Coding and Decoding Problems (Marks: 10)
§°G0h, A5°%G0A Hdsen (X306 : 10)



In a certain code each consonant is coded as (n+4) (mod 26)"
consonant and each vowel is coded as the next vowel cyclically. The
reverse process is used for decoding.

Based on this information answer the questions from 56 to 60.

2.5 DN 56 S D STND (n+4) (S50 26) &S dTeNS
B0 (D8 @)D BEAbhomr éors e ) §6 T,
A5 E0R 50 DS DB &HBEAT .

S Q80 880 56 Hodk 60 HBB e (DE) o8B0

oAPETIPOD Q) SO,

Sub questions

Question Number : 56 Question Id : 6326865053 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h, A5G0N Jddgen (S350 : 10)

OVAL is coded as

OVAL %0 56
(1) SZEP
(2) UZEQ
(3) UZEP
(4) SZEQ

Options :



1. % 1
2.%2
3.3
4. % 4

Question Number : 57 Question Id : 6326865054 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h, A5G0N Jddgen (5360 : 10)

ICET is coded as

ICET %0 §°6&

(1) OGlY
(2) OGIX
(3) SGMX
4) OGUY

Options :

1. % 1

2.9 2

3.% 3

4. % 4

Question Number : 58 Question Id : 6326865055 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h, &5°%G0h dddgen (5300 : 10)



Which word is coded as ORANGE?

ORANGE ™ &) J¢50 §6& Dardh?

(1) INUJCO
(2) ONUICA
(3) INUKCA
(4) INUJCA

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 59 Question Id : 6326865056 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
500, A5G0N Jadgen (St : 10)

SECTION 1s coded as
SECTION %0 §°&
(1) WIGXOUS
(2) WIGXOUR

(3) WOGXOUR
4) XIGYOUR

Options :



1. % 1
2.¥2
3.%3
4. % 4

Question Number : 60 Question Id : 6326865057 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h, A5G0N Jddgen (S350 : 10)

Which word is coded as BULLET?

BULLET 1 & D) & Torth?

(1) XOHIAP
(2) XOIIAP
(3) XUHHAP
(4) XOHHAP
Options :
1. %1
2. %2
3.% 3
4.9 4
Sub-Section Number : 9
Sub-Section Id : 632686561
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 6326865058 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
5’600, A5%A0M Hddgen (X0°t0,00 : 10)



If INPUT is coded as LQSXW then code for COMPUTER is

INPUT & LQSXW T §°& D), COMPUTER %0 §&

(1) FRPSXWHU
(2) FSPMXHWU
(3) FPMSHXWU
(4) FQNTIYZU

Options :
1.¥1
2. %2
3.% 3
4. % 4

Question Number : 62 Question Id : 6326865059 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h, &5°%G0h dddgen (X350 : 10)



If PURCHASE is coded as 73429186 and ORDER is coded as 54064, the
code for PROCEED is

PURCHASE & 73429186 1 08050 ORDER & 54064 m &6 D,
PROCEED %o §&

(1) 7452660
(2) 7354880
(3) 7483550
(4) 7694330

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 63 Question Id : 6326865060 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h, A5°G0N dddgen (X570 : 10)



If PRIVATE is coded as 1234567 and RISK is coded as 2398, then which
of the following is coded as 9623477

PRIVATE & 1234567 s08ai0 RISK & 2398 med §6& T, (80d
¢3S 962347 1 86 TADDBIE DE?

(1) SIVERT
(2) RIVETS
(3) STRIVE
(4) REVERT

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 64 Question Id : 6326865061 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h, &5G0N ddgen (3505020 : 10)



If FAILURE is coded as KFNQZW!/J, then the code for SUCCESS is

FAILURE & KFNQZWJ ™ §°6& © ), SUCCESS & §°6&

(1) YAHIKYY
(2) WBJILWW
(3) XZHHIJXX
(4) TVKKLTT

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 65 Question Id : 6326865062 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
§°G0h, &5°%G0N dddgen (3575026 : 10)



If NATION is coded as 467234 and GREEN is coded as 19554, then the
code for INTEGRATION is

NATION & 467234 ™ 0805 GREEN & 19554 ™ §5 T,
INTEGRATION %0 §&

(1) 24861957234
(2) 24961857234
(3) 24695817234
(4) 24751967234

Options :

1. % 1

2. %2

3.% 3

4.9 4

Sub-Section Number : 10
Sub-Section Id : 632686562
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 6326865063 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B6, DDONO, @N3Ee Hsdgen (55020 @ 10)



The calendar of the year that is identical with the calendrer of the year

2005 is

200505 03¢5 3150 5750030 & DEBDOT 52505 S0 Y80

(1) 2009
(2) 2010
(3) 2011
4) 2012

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 67 Question Id : 6326865064 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE), DN, 8% Haddgen (3785026 : 10)



At what time between 4:00 and 4:30 will the hands of a clock be at right

angle?

2,8 HAATSE0ES” 4:00 D8O 4:30 © 50635 & HeHaHoeS

S0EVEN ©02) 0SS S0ETron?

(1) S%min.past 5:00 5 (0 5% ool
(2) 6%111i11. past 4: 00 4 o 6% RelaleD
(3) 5 %min. past 4: 00 4 floéred 5% e el
4) 5 %min. past 4: 00 4 foéyred 5% Do lPEX)

Options :

1. %1

2. % 2

3.% 3

4.4 4

Question Number : 68 Question Id : 6326865065 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE), DNONO, 085 Hadddgen (3785026 : 10)



At what time between 9 o'clock and 10 o'clock will the hands of a clock

be together?

KAASTSEOS 9 B 10 K0S NS & NHaNosS Boch

S0eVEN DT ON?

(1) 45 minutes past 9 9 oYY 45 DalareD
(2) 50 minutes past 9 9 YO 50 Qalalel)
(3) 49% minutes past 9 9 oS awi oo )
(4) 48% minutes past 9 9 ffoéred 48% L LB

Options :

1. %1

2.% 2

3.¢3

4.% 4

Question Number : 69 Question Id : 6326865066 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B6, DDONO, @N3Ee Hsdgen (55020 @ 10)



Mrs. X meets a man at a party who is the brother of the sister of her

husband. How is the man related to X?

B0 X 2,8 06D 2,8 DocHS ZenN 0B, e9edch s 258
TB0E) SFAB TB0E), DA OO0, e96dchd X & DAV
DOOT L) DN G C?

(1) Brother-in-law o08&

(2) Brother B D
(3) Cousin 220

(4) Father Yolle

Options :
1.v¥1
2. %2
3.% 3
4. % 4

Question Number : 70 Question Id : 6326865067 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE, DDONO, @NBEE Hsdgen (375020 @ 10)



A person A came to the bus stop at 8:10 am and found that he was 40
minutes before the arrival of the bus which was running late by 30

minutes. What was the scheduled arrival time (STA) of the bus?

A ©OF 28 955 2R P9 B0 G0N0 8:10 ©F0 ST, 5 22D
30 QTN BEIZOM SCHN D) 0D e8¢ 22:D ) DO

Qe OIS 40 QaWare 2INOCD W)LY BN ET) CD. 201
B DBAh DO DeDONO DOed EOTBD?

(1) ©s.8:20am
(2) ©s.8:22am
(3) ©s.8:25am
(4) ©s.830am

Options :
1.v¥ 1
2. %2
3.%3
4. % 4

Question Number : 71 Question Id : 6326865068 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B6, DDONO, @N3Ee Hsdgen (55020 @ 10)



Two trains P and Q arrived at station X on same day at 14:35 hours and
15:28 hours, running late by 21 minutes and 12 minutes respectively.
Then the time difference between their scheduled arrivals (in minutes)

s

T B2 P 0805 Q @0 Boch BEen HAD X 50 S0 21
QAATEN DGO 12 AT EEIDFOMT SCD® 14:35 foLIHB
oA 15:28 FOLIZ TOTOW. @3¢ ¢35 ABONONDEHN
D% ST s B0 (TS

(1) 56
(2) 58
31 &2
(4) o4

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 72 Question Id : 6326865069 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
B6), NNONO, NBEE DDz (35020 : 10)



Six persons A, B, C, D, E and F are sitting around a circular table such
that C is sitting to the right of E, and F is to the right of A. If B is sitting
to the left of D, and A and C are sitting adjacent to each other, then who

is sitting opposite of D?

e3&iHED H55ven A B, C, D, E F ex) 2.8 Hp&s8 20 ey &2
1508 QO 53 )y . E § 508 Sayed C o805 A 50

B0 830 F 570 )00 ) 0. D § e @ adad B G508, A, C e
2805ED [DEY D8 50T D 50 DB eI

B0 o) Bo?
(1 A
(2) B
3) €
(4) E
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 73 Question Id : 6326865070 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE), NNONO, NBEE HsDgen (35020 : 10)



If the symbols @, 8, y and & stand for arithmetical operations of addition,

subtraction, multiplication and division respectively, then

(4282)B(574)
(554)a(484)

a, B,y D005 § @F (HEN SO @0 ieded HBI8ahen
HOESIS0, 55550350, MHEISBO HBAM 2FHIFS0 O ATFD W,

(4282)F(5v4) _
(584)a(484)

(1) 0
2 =
(3) 1
(4) 2

Options :

1. %1

2.¥2

3.%83

4. % 4

Question Number : 74 Question Id : 6326865071 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
S8, DNONO, 85 Hadddgen (s35°¢502.e : 10)



If a x b stands for%+§, then ﬁil(l xi) =

n

1 1 o = 10 i -
axb =+, TIFDVE (1:«5)_

n=1

(1) 75
(2) 55
(3) 65
(4) 60

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 75 Question Id : 6326865072 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(d) Date, Time & Arrangement Problems (Marks : 10)
BE), NNONO, NBEE HsDgen (35020 : 10)

If CAD = C? + CD + D? — (C + D), then 748 =

CAD = C2 4+ CD + D? — (C + D) ®0N®, 7A8 =

(1) 169
(2) 154
1 133

(4) 172



Options :

1. %1

2.9 2

3.% 3

4. % 4

Mathematical Ability

Section Id : 63268674
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 75

Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 632686563
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 6326865073 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 5ed (33280 e : 35)

if3* =9Y =27% and xyz =36, thenx+v+z =

3* = 9¥ =272 HOOW xyz =36 SONB, x+y+z=

(1)
(2) 13
(3) 12
(4) 15

Options :



1.¥1
2.%2
3.%3
4. % 4

Question Number : 77 Question Id : 6326865074 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
051365 e 5ed (3302 : 35)

[f 2814204 _ 390 then n'=

If 27=1 4 27+l = 320 @OVSB, n =

(1) 6
2) 8
(3) 5
h 7

Options :

1. # 1

2. %2

3.%3

4. ¥ 4

Question Number : 78 Question Id : 6326865075 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05e3ed a0 5ed (3320 e : 35)



If A:B=2:3; B:C=6:7and C:D = 4:5, then D: A=

A:B=2:3; B:C =6:7080 C:D =4:5 P—BCH)@,D:AZ

(1) 12 41
(2) 16 :35
(3) 35:16
(4) 41:12

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 79 Question Id : 6326865076 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05e36d e 5ed (33202 : 35)



An urn contains 60 litres of mixture of milk and water in the ratio 3 : 1. How
many litres of water is to be added to this mixture to make the ratio of milk

and water as 1: 3?

2,8 (5 60 DS Fen HBTW DD WFSTAY, 3 : 1 DAV £
GOE). e DO DD 1:3 ANIBS GOBEFE & WFATVE IQ),
DS D EOrE?

(1) 60
(2) 80
(3) 100
(4) 120

Options :

1. %1

2. %2

3.%83

4. ¥ 4

Question Number : 80 Question Id : 6326865077 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
051365 e 5ed (3302 : 35)



If the arithmetic mean of two surds is 5 + 94/2 and one of them is

1 + 1242, then the square root of the second surd is

BOCH ESENS 0ENCE0 5 + 942 HBA5W e Boch ESenereS

1+ 12v2 2,8 853 000, TOched 863 BnEY) 38 05rer0

(V2 ++6
(2)V6 —+/3
(3)V6 +3
43 +5

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 81 Question Id : 6326865078 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
051365 e 5ed (3302 : 35)



If 3\:"26 - 15\-@ e _Va'r}_rﬂ then 3x + 2y =

i -
V26 —15V3 =x —_ [y €OWS, 3x +2y =

) 12
(2) 6
(3) 9
4 0

Options :

1.v 1

2. %2

3.%3

4. % 4

Question Number : 82 Question Id : 6326865079 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

i) Arithmetical Ability (Marks : 35)
@0 5ieded a0 5ed (3ed.en : 35)



The smallest 5 digit number that leaves remainder 11 when divided by 111

is

1113 2PH0DS)CD, 3D0 11 @3D5EIED 5 05 EJR DODS

(1) 10112
(2) 10101
(3) 10051
(4) 10001

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 83 Question Id : 6326865080 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 5ed (33°¢0.e : 35)



When a number is divided by 13, the remainder is 11. When the same

number is divided by 17, the remainder is 9. Then the number is

2,8 DOWED 133 2RO T 30 11, T DOWLD 17 D 2N

5T N0 9 ©ONSD, &3 HOWVS

(1) 339
(2) 349
(3) 369
4y 379

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 84 Question Id : 6326865081 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05e36d e 5ed (33202 : 35)



If the LCM of 3,4, 5, 6, x is 120 and x < 120, then the largest value of

x among the following is

3,4,5,6,x © 5D 120 HBAW x < 120 @O0, 1806 FAS
x O30 (8 Dewnsd

(1) 8
(2) 24
(3) 40
4) 32

Options :

1. %1

2. %2

3.3

4, % 4

Question Number : 85 Question Id : 6326865082 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
051365 e 5ed (3302 : 35)



Six bells commence tolling together and toll at intervals of 2, 4, 6, 8, 10 and
12 seconds respectively. In 30 minutes, how many times do they toll

together?

e3¢ Hotren ¥R 238 [[rihErow SHBC @) SR 2, 4, 6, 8,
10 D80 12 DER © @odTreS |Brtherawn. 30 AareeS e
D)) D EO (SrthErow?

(1 4
(2) 10
2 15
4) 16

Options :

1. %1

2. %2

3.%3

4.v 4

Question Number : 86 Question Id : 6326865083 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05e36d e 5ed (33202 : 35)



If m"™ =361, 'm'and 'n’ being natural numbers, which of the following

m—nm
could be a value of% ?

m' 3080 ' DT DOWEOE m™ = 361 @oNS, 808 T3S DO

0 FBorsy Dead SHiecn?

(1) 95
(2) 180
3) -85
(4) 160

Options :

1. %1

2.¥2

3.% 3

4. % 4

Question Number : 87 Question Id : 6326865084 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05ie3ed T 5ed (3oed.en : 35)



0.099 x 9.9 X 0.99 + 0.000001
0.099 X 9.9 — 0.0099 + 0.0001

(1) .95
(2) 0.01
(3) 1.0

(4) 0.90

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 88 Question Id : 6326865085 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ie3ed T 5ed (3oed.en : 35)



The difference between the largest and the smallest of the following

numbers is

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 89 Question Id : 6326865086 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 5ed (33°¢0.e : 35)



If a = g,b = TZ’C = g,d = —ande =~ then their descending order is

o
Il
WO | ke
)
Il
~
I
=1 |
o,
I

|,_.
b
A
(o)
é’i
o
Il
N||-=

25008, o7¢3 @58 1500

(1) c,a,eb,d
(2) a,/b,c,de
(3) e,d,c,b,a
4) d,b,e,a,c

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 90 Question Id : 6326865087 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05e3ed a0 5ed (3320 e : 35)



In an election contested by two candidates A and B, A polled 35% of the
votes and is defeated by B by 15000 votes. What is the number of votes
polled by B?

RGOS @255en A N80 Ben ¢S TS .8 DIYES A FBS
S0B0 L, 35% SD)TTON DB BT 15000 4,8 B A
2,088, BE) B [0B0 8,8 SO DOes?

(1) 31000
(2) 32000
(3) 32500
(4) 33000

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 91 Question Id : 6326865088 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@081e36d T 5ed (33°30e : 35)



In an examination A scored 25% of marks and failed by 30 marks whereas
B scored 50% of the marks and got 20 marks more than the minimum pass

marks. What is the minimum percentage of the pass marks?

2.8 HBES AT SrBS 25% FOHOD 30 S SES
2006 e0SPI. B 9% arch SrpS 50% H0D DD eeddes
3050 &) 20 S3DLEN DB0YS PO, tre3ed SeHerdE EDH0

D065 F2H0 P00 TE)?

(1) 30%
(2) 35%
(3) 38%
(4) 40%

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 92 Question Id : 6326865089 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@0 5ieded a0 5ed (3320 ).e ; 35)



A man bought a horse and a carriage for Rs.3000. He sold the horse at a
gain of 20% and the carriage at a loss of 10%, thereby gaining 2% on the

whole. The cost of the horse is (in Rs.)

2,8 538 2.8 HETTR) HB0M HWDH N Er30000F o).
HETD) 20% 328, 20D 10% SarPE I @8 o
M 2% 3250 SDJOB. HETD) 55 O (Br.eeS)

(1) 1200
(2) 1300
(3) 900
(4) 1100

Options :

1.¥1

2. %2

3.% 3

4. % 4

Question Number : 93 Question Id : 6326865090 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@081e36d T 5ed (3°H e : 35)



The profit earned by selling an article for Rs.900 is double the loss incurred
when the same article is sold for Rs.450. At what price should the article

be sold to make 25% profit?

208 DAY E.900 OB @00 S 5T €70 T 9 NHD
G 450080 @B I 0B B0 ONS, 25% 70 T IEFrDS
€3 53859 €602 €38 Do (Gr.eS)?

(1) 600
(2) 750
(3) 800
(4) 900

Options :

1. % 1

2.2

3.%3

4. % 4

Question Number : 94 Question Id : 6326865091 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@0 5ieded a0 5ed (3ed.en : 35)



P, Q and R together started a business. P invests three times as much as Q
and Q invests two third of what R invests. What is the share of Q, if the

total profit is Rs.12100 (in rupees)?

P, Q ReX 2,8 J°5arTr) (P00 008. Qreddar8 3 B P, R
SO0 £ & S0k Q DEPE DR, ko erSo Er12100

0N, Q ABNE), TEF DOEH?

(1) 1600
(2) 2020
(3) 1800
(4) 2200

Options :

1. %1

2. %2

3.%3

4. ¥ 4

Question Number : 95 Question Id : 6326865092 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

i) Arithmetical Ability (Marks : 35)
@0 5ieded a0 5ed (3w : 35)



A, B, C, D start a partnership business where A, B and C invested %rd , ith
and %th of the capital respectively and the rest of the capital by D. If the

total profit at the end of the year is Rs.60 lakhs, what is the profit of D (in
lakhs) ?

A, B, C, DX 2,8 o r5orTrR) (ard0aE. A, B, Cen HBOm
DEPDAS’ 255 S0k, =5 S0k, 235 S0 DY WADS A D
RERDET DEFCD. Q0SB YTToTY 00 oo Bt 60 eEew
9008, D ABNE), e o (2§ eS)?

(1) 15

(2) 12
(3) 10
4 8

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 96 Question Id : 6326865093 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 5ed (3 .en : 35)



Pipe A and B can fill an empty tank in 6 hours and 9 hours respectively. If
Pipe A is opened at 10 pm and B one hour thereafter then the tank will be

filled at

Boch DY A, B e 2.8 0@ SEIQ SBHIT 6 tfotren, 9 foerereS
DOD K35y, 10 pm 50 22 A BODS 2.8 H0d S0°5eb B BOW,
&¢I DOT DeDAHO

(1) 20.1:00 pm
(2)  o0.1:30 pm
(3) &0.2:00 pm
(4)  o20.3:00 pm

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 97 Question Id : 6326865094 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
051365 e 5ed (33202 : 35)



A tank supplies water to a family for 50 days. Due to leak in the tank, 5
litres of water wastage every day and then the supply lasts for 10 days less.

For how many days the supply last if 50 litres of water wastage every day?

2,8 5000278 2,8 37505 50 F2ren D9 SBENT° DYOA. €8 308
S OF28 B0 1D T2 5 DS DY SHT° S0 IO e DeE3
HBHT 10 Baren $B0yS5™ Q0. (56 T2 50 OG D09 ST

@ONB, D) F2e BB JSHT® HoEVOH?

(1) 20
2) 25
(3) 22
4) 24

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 98 Question Id : 6326865095 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
051365 e 5ed (3°H e : 35)



Two persons A and B start from a point P and walk at the speeds 3 kmph
and 4 kmph respectively. B reaches the point Q and returns immediately
to meet A at a point R in between P and Q. If P, Q, R are collinear, then the

distance between Q and R (in km) is

2AB H5Bven A, B e P @93 Doch) Hod dordy 3 88, 4 8o
SHEOS SCHAF 20HeN BTM. B SHTE HochY Q & TES I0hD
388 A D P 0BG Qe 5035 R &S Senardd. P, Q R e 2,8 0
SO0 Q HBOM RO S0E3S B0 (B.90.65)

(1} 6
(2)
) 4
4 3
Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 99 Question Id : 6326865096 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
051365 e 5ed (3°H e : 35)



Walking at %th of his usual speed a person reaches his office 10 minutes

late. What is the time (in minutes) taken by him to reach his office if he

walks at his usual speed?

28 H38 #35 Frde oS ;;{) 5065 DO SEW, €9eh

SOPSOOTRE 10 Aare) @eODFOMmT DNH0LETED.  @dch ¢
TS5 SH0S IBW @965 ST EOOT) TEEDEIZ HB JeHoHo
D06 (Aare>eS)?

(1) 30
(2) 32
(3) 35
(4) 40

Options :

1.v 1

2. %2

3.%3

4. % 4

Question Number : 100 Question Id : 6326865097 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@05ieded a0 5ed (33280 e : 35)



P works twice as fast as Q and R work together. Working together, all three
can do a work in 21 days. In how many days can Q and R together do the

work?

Q, R e DV 2.8 DA I8 TAsMEEY DB Hshaho oy Sifo
HDONO P 3DH0ETCD. S0P EOD & HAD 21 BzrersS Hrd
ToHHOB. Q R 0 D) & DA A FerereS Badriern?

(1) 48
(2) 63
(3) 54

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 101 Question Id : 6326865098 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05e36d e 5ed (33202 : 35)



A, B and Cindividually can complete a job in 20, 15 and 25 days respectively.
If only one or two persons can be assigned the job who would complete

the job quickly?

A, B D805 Cen 2,8 DD SEST 20, 15 HBAW 25 oS’ 58
DD, FOS 255 B PO SrHed DA Hrd TaAsnEdBd
BDED) DI oSS 8 TS FBSED?

(1) A,B
(2) B, €
(3) C,A
(4) B

Options :
1.¥1
2. %2
3.% 3
4. % 4

Question Number : 102 Question Id : 6326865099 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05ie3ed T 5ed (3oed.en : 35)



ABCD is a quadrilateral. AC=12 cm. The perpendicular distances from B
and D to AC are 4 cm and 6 cm respectively. Then the area (in cm?) of the

quadrilateral ABCD is

ABCD 2,8 t3¢30)230. AC= 12 0.2, B 0800 D © o AC 8 @0
E0r0PeD SEDIMT 4 V0., HBAD 6 VDO.D. 9D B Y2350
ABCD G3w%) BF©550 (£9.00.0. © )

(1) 30
(2) 45
(3) 60
(4) 90

Options :

1. % 1

2. %2

3.3

4, ® 4

Question Number : 103 Question Id : 6326865100 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05e36d e 5ed (33202 : 35)



. . - 11 . . .
The circumference of circle A is — times the perimeter of a square with area

784 sq. cm. The area of another circle B whose diameter is half the radius

of the circle A, is (in sq. cm.)

784 £5.20.20. BT, $ONS DD HOHE = BY HOH EOAS
S0 A. B @F 59€ 7590, 39880 A FsardoeS Hiio oI,

S0 B IF©150 (29.200.8.0¢)

(1) 148
(2) 154
(3) 162
(4) 184

Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 104 Question Id : 6326865101 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@05e36d e 5ed (33202 : 35)



A solid metallic sphere of radius 6 cm is melted and moulded into smaller

spheres of diameter 4 cm. The number of smaller spheres made are

6 0.2, 5T EOAS 28 T o Ferd) §800D 4 oD
TS SOAS DN RN Feren M O PRI, HOSTSAD

D)3 Femed Sos

(1) 36
(2) 32
{3} 27
(4) 24

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 105 Question Id : 6326865102 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
051365 e 5ed (33202 : 35)



The radii of the bases of a cylinder and a cone are in the ratio of 3:4 , and

their heights are in the ratio 2 : 3. Then the ratio of their volumes is

Q0 DB 5 F0ZN Y BT FRETTE DA 3 14 B °¢3 Jeye>
DAE 2 : 3, OV, a7¢3 0D HBIFETO DA

L £
(2) 9:8
B3y 199
4 9:7

Options :

1. %1

2.2

3.%3

4, % 4

Question Number : 106 Question Id : 6326865103 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

1) Arithmetical Ability (Marks : 35)
051365 e 5ed (3302 : 35)



The curved surface area of a cylinder is 1056 sq.cm. and its height is 28cm.

the volume of the cylinder (in cm?) is

2,8 Q"D S|Eehe> FF*50 1056 5. 00.2. SNBAM T°Q DB 28 0.3V.

LI0SYCH), € AT DS DBSTE0 (0. 2>’ )

(1) 2168
(2) 3168
(3) 3178
(4) 2688

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 107 Question Id : 6326865104 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@0 5ieded a0 5ed (3ed.en : 35)



The surface area of a cylindrical pipe, open at both the ends is 628 sq.cm.
Its length is greater than its radius by 15 cm. If the pipe is closed at one
end then the amount of water (in cm?®) the pipe can hold (taking it = 3.14)

Is

SO Bayer SBODEGD) 28 WrseEieo TBnE) bt JIFT50
628 3. 0.2). 8 0 ), arsarO0 7)) 15 VO.SD. &0 DBD. €3
TR 28 D) SR, €98 88 0T 3 HDBATEIO (055
0.D.OS) (1 =3.14 T SDTDSW)

(1) 1570
(2) 1620
(3) 1680
(4) 1860

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 108 Question Id : 6326865105 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

i) Arithmetical Ability (Marks : 35)
@0 5ieded a0 5ed (33°C0.e : 35)



One diagonal of a rhombus is 20 cm and side of the rhombus is 26 cm.

Then the area of the rhombus (in sq.cm) is

2,8 DD D DIBY) 8 DEG0 Y 20 0.00. B 2.8 2H20
86 26 VO, ONYE), N DB BFT°OF0 (2. 00.8D.
C’_DESE)

(1) 480
(2) 560
(3) 520
(4) 460

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 109 Question Id : 6326865106 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks : 35)
@0 5ieded a0 5ed (3w : 35)



If0<x<14and 11x = 3 (mod 14) then x =

0<x <1456 11x = 3 (mod 14) 3D ™ GOT x =

(1) 10
(2) 11
(3) 12
(4) 13

Options :

1. %1

2. %2

3.% 3

4. ¥ 4

Question Number : 110 Question Id : 6326865107 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1) Arithmetical Ability (Marks : 35)
@081e36d T 5ed (33°30e : 35)

What is the time 100 hours after 7 am?

AN 7 A0S T 5% 100 O @00 DeDONO DO ?

(1) te. 11 am
(2) ts. 10 am
(3) ~° 11 am
(4) %9 am

Options :



1.¥ 1

2. %2

3.% 3

4. % 4

Sub-Section Number : 2
Sub-Section Id : 632686564
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 6326865108 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
280D, 25D TG 5eh (S0 : 30)

If A=1{3,4,5,6,7,8,9}, then the number of subsets of A not containing 6

IS

A=1{3,4,56,7,8,9) @ONB, 6 < A H0ED A TB0E) & dWene

QO

(1) 256
(2) 128
o1 32
(4) 64

Options :

1. %1

2. %2

3.%3

4. ¥ 4

Question Number : 112 Question Id : 6326865109 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2PLNBAD TS 5eh (5325020 : 30)

For two sets A and B, if
n(A—B)=14,n(B—A) = 16,n(AUB) = 40,thenn(ANB) =

D dawedhen A, B @5

n(A—B)=14,n(B—A) =16,n(A U B) = 40 €900a))C),

n(AnB) =

(1) 20
(2) 15
(3) 10
4 8

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 113 Question Id : 6326865110 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2PLNBAD TS 5eh (5325020 : 30)



If one of the roots of the cubic equation x* + ax®* + bx + ¢ = 0 is -1, then

the product of the other two roots is

Brax?+bx+c=083 NS SNDEB0 BwE) 2.8 Sreo -1

90N D)), aN(iE BOCH NTFETE ODO

(1) b+a-1
(2) h=g¥+ 1
(3) bh=g—1
(4) a—8—1

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 114 Question Id : 6326865111 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
DBO%H, 2P BB seb (S3¢502.0 : 30)



Suppose a and P are the zeros of the polynomial

f(x) = x? — 6x + k. Then the value of k, such that a? + f? = 40 is

FG) =x2—6x+k @ 20D 0D a SNBAN B DTN,
)CD, a? + B2 = 40 @3N DO k DeNsd

(. 2
(2) 1
3) 2
B =1

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 115 Question Id : 6326865112 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2RO BB seb (S3¢502.0 : 30)



If x® —4x® +ax+ b is exactly divisible by both x —2 and x + 1, then
(a,b) =

x—2 NBAW x+1 OB ¥P—4xi+ax+b DIomr rfodh
2BIO0NSB, (a,b) =

(1 (=L,6)
(2) (1,6)
() (1,-6)
4 (@Q,3)

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 116 Question Id : 6326865113 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2RO BB seb (S3¢502.0 : 30)



If the integer n is divided by 3, the remainder is 2. Then, the remainder

when 7n is divided by 3 is

2,8 3@ QoW n D 33T 2H0DGND 2:D AT DSOS, 7n
o 3 D 2rRoDSED ©DOT A0

(1l 3
(2) 2
(3) 6
4 4

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 117 Question Id : 6326865114 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2D T 5eh (535020 : 30)



A person bought 29 postal stamps of Rs.5 and Rs.10 by paying Rs.200. The

difference between the number of stamps be bought with that money is

EP.5 DO B10 Densd S 29 éarer HEFHodD 2.8 S8 8200
SDI0D FDfen TDarcd. ©ecH SoDFeD TS 0N Do’
23850

(1) 10
(2) 9
(3) 8
4 7

Options :

1. %1

2. %2

3.%83

4. ¥ 4

Question Number : 118 Question Id : 6326865115 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2D T 5eh (535020 : 30)



Six years ago, the age of a person was two years more than five times, the
age of his son. Four years hence, his age will be two years less than three
times the age of his son. After how many years from now will their

combined age be 100 years?

e 0B IT (8650 2,8 2358 HADNY e BT A JBL
0D B8 50) T NOBITCN DBFIT GO, e
Q0 YT X077 eH @9E5R) 2O ) €925 HVaITPANA) 2ICD D JBY oI CR
G 80) Toth Q0ded)T"en 805 SO, Q) 008 YT
05 TFODE HOND YO TNEBO 100 HOHEd YT EN SHIEH?

(1) 48
(2) 14
(3) 19
(4) 38

Options :

1. %1

2. %2

3.3

4, % 4

Question Number : 119 Question Id : 6326865116 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2P TG sed (53020 : 30)



If 2* = 4Y =167 and xyz = 1728, then 5x+ 3y + 2z =

2% =47 = 167 NOAW xyz = 1728 SO0,

S5x +3v+ 2z =

(1) 148
(2) 168
53 R [
(4) 184

Options :

1. %1

2.¥2

3.%3

4, % 4

Question Number : 120 Question Id : 6326865117 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 253D are seb (5°. : 30)



The sum of the first n terms of a sequence is given by 5n° 4+ 2n. Then the

10" term of this sequence is

2,8 @DBN0SD B0 n Dored B0 5n2 + 2n ONS)CD,
@|E06S” 108 HESO

(1) 87
(2) 97
(3) 107
(4) 117

Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 121 Question Id : 6326865118 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2RI TG seb (53020 : 30)



If 9 times the 9™ term of an arithmetic progression is equal to 13 times the

13" term, then the 22" term of the arithmetic progression is

28 @03 3OS 95 Hr8 9 BLY, 135 I8 13BENE HoSrS0
0D SN, 8 @0E FAS’ 2245 HESo

(1) 0
(2) 22
By 22
(4) 198

Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 122 Question Id : 6326865119 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2P TG sed (53020 : 30)



cos5690%+cot210%+cos 4200

5in 690%+sec 210%+tan 420°

(1) 11(2-+3)
2) 13(2++3)
(3) 11(2++73)

4) 13(2-+3)

Options :
1. %1
2.¥2
3.% 3
4. % 4

Question Number : 123 Question Id : 6326865120 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
280D, 25D TG 5eh (53020 : 30)

1 3
—5in 300° + tan 8552 + —sec 780°% =
v3 4

V3
M =
(2) 0
(3) a5
4) 2

Options :

1. % 1

2.2

3.%3

4. % 4



Question Number : 124 Question Id : 6326865121 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2RO BB seb (S : 30)

finaAABC, A+B=C, thentanA.tanB.tanC =

AABC SS* A + B = C @003, tanA.tan B.tan € =

(1) tanA +tanB +tanC
(2) tanA —tanB —tanC
(3) tanB —tanC —tan 4

(4) tanC —tanB —tan 4

Options :
1. % 1
2. %2
3.% 3
4. ¥ 4

Question Number : 125 Question Id : 6326865122 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 253D T seh (S0 : 30)



1 1
x+—=2c053:}.\’3+—3:
X X

(1) 2cos36
(2) cos36

(3) 3cos30
(4) 3cos26

Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 126 Question Id : 6326865123 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2P TG sed (53020 : 30)



A man standing at 50m on the tower of a ship observes the angle of
depression of 2 boats on either side of the ship to be 30° and 60°

respectively. The distance (in meters) between the boats is

28 7% 2 (50> IDS0 3 50 D6 SIGS0ES 50 DOCHY HOD, &8 755
SO Ba)e (1> BOCH DI Do) §ETrerad 30° BaA%w 60° ex 1
2,8 558 HBBOS DD, & BOCH DS D35 550 (erd o)

100
[ ==
150
& =
200
& =
250
G
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 127 Question Id : 6326865124 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
AL ATV TN O T (5350202 : 30)



In the given figure 1,1, are two intersecting lines at O and I; is a horizontal

through O. The value of x ( in degrees) is

Q950G DS 1,1, BEN 0 3 DOBOTY 0N 0N DB
O Do 59 § &322 D3r0edS Bad 13 @©0NS) IED x e (BIReS)

(1) 45
(2) 55
(3) ¥ i
4) 85 3
Options :
1% ]
2. %2
3. %3
4.9 4

Question Number : 128 Question Id : 6326865125 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2D T 5eh (535020 : 30)



In the given triangle if ZABC = £BDC = 90° and BD = AD,
Then x =

RS 5DOS (83292206 LABC = £BDC = 90° H805» BD = AD

SOOI, x =
(1) 15
(2) 30
(3) 45
4) 60
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 129 Question Id : 6326865126 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2P TG seb (SS3°C502.0 : 30)



The diagonal of a square is 16y/2cm. Its area (in sq. cm) is

2,8 VOGO DEGO0 s 16vZ 0. 00N, €8 IS
S0 (3. VO.D.oS)

L) 16
(2) o4
(3) 256
(4) 512

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 130 Question Id : 6326865127 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2D T 5eh (535020 : 30)



The area of a rhombus whose side is 50m and one of its diagonals 80m

(in sq.m.) is

29230 £y 50 &N, B 2.8 DEJO Y 80 . T HED dd
296850230 TBwE), SFOS0 (.00

(1) 1600
(2) 2000
(3) 2400
(4) 4800

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 131 Question Id : 6326865128 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
280D, 25D TG 5eh (53020 : 30)



In the following circle with center O, if ZABC is 115°, then £AOC =

0 SOV e (B0 H9ehedneS LABC @96 115° @00dS’, 2AOC=

10
(1) 5?5
(2) 115"
(3) 1307
(4) 160°
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 132 Question Id : 6326865129 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2D T 5eh (535020 : 30)



The area of the circle centred at (1, 2) and passing through the point (4, 6)

is (in sq. units)

(1,2) SO Solrd) 808 (4, 6) Do Hom ) H9o W)
TS0 (5.0

(1) 5n

(2) 10m
(3) 25n
(4) 20m

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 133 Question Id : 6326865130 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2D T 5eh (535020 : 30)



A4, 2), B(6, 5), C(1, 4) are the vertices of AABC. If the median from A meets
BC at D, then AD?: BC? =

A4, 2) , B(6, 5), C(1, 90 3T 1 5DAS 182hH220 AABCS A HOD
A% 06330568531, BCR D 98 DO B0DS)CH AD? : BC? =

(1) 1:4
(2) 5:14
(3) 4:13
(4) 3:10

Options :
1.¥1
2. %2
3.%83
4, % 4

Question Number : 134 Question Id : 6326865131 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2PsBAD TS 5eh (535020 : 30)



The equation of the perpendicular bisector of the line obtained by joining

the points (1, 1) and (3, 5) is

(1, 1) 0BG (3, 5) DY 070> B TBNEL ©02) DDA LWOCEHS
S dEB0

(1) 2x — 3y A =0
(2) T—¥+1=0

(3) x+2y—8=0
(4) 3x+y—9=0

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 135 Question Id : 6326865132 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2RO G seb (SS3°¢502.0 : 30)



A point C divides the line joining the points A(1, 3) and B(2, 7) internally in
the ratio 3 : 4. The equation of the line passing through C and parallel to

the line2x + 7y =4 s

A(1, 3) SO0 B(2, 7) @ HOCHHOD EO0 BD 3:4 DAIBS’
20N C 0SS0 D232 N0H. 9))ch Do) C hoaa Sehr

2x + 7y = 4 B0 D0 S0T 56> DS By HavESea0

(1) 7x —2y—142=0
(2) 2x+7y —56=10
(3) 14x + 49y — 251 =0
(4) 2x — 7y +56 =0

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 136 Question Id : 6326865133 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2RI TG seb (53020 : 30)



The equation of line passing through the origin and is inclined at an angle

of 30° to the X-axis

e Doy hoce Fehr X- @ o0& 30° oo DA STy

JHESE0
(1) y=x
2) V3y=x
() =A%z

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 137 Question Id : 6326865134 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2P TG seb (SS3°C502.0 : 30)



The equation of the line passing through the points (1, v/3 ) and

(3, 3) is

(1, v3),( V3, 3) DoHIH® HOT S DB Ty HanEEe0

3) y—3x=0
4) 3y+x=0

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 138 Question Id : 6326865135 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2PLNBAD TS 5eh (5325020 : 30)



If m denotes the slope and c denotes the intercept of a line then (m, c) for

theline 7x — 11y —23=0s

m PN, ¢ Y-@0ATPPOETA) PO 7x — 11y —23 =10
HESTHE (m, ¢) =

11
@ (73)
® (&=

Options :
1. %1
2. %2
3.%83
4.¥ 4

Question Number : 139 Question Id : 6326865136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
2805, 2PLNBAD TS 5eh (5325020 : 30)



The intercept made by the line joining the points (1, 11) and (-3, -5) on the

Y-axis is

(1, 11) , (-3, -5) DoNIOD DD B Y-@50 D DO @0

DO CHIND
(1) #
(2) =
=

@ =
o .

Options :

1.v 1

2. %2

3.%3

4. % 4

Question Number : 140 Question Id : 6326865137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Algebraic and Geometrical Ability (Marks : 30)
D805, 2P TG sed (53020 : 30)



The equation of the line passing through the point of intersection of the

lines 2x + 3y —4 = 0; 5x — 2y 4+ 6 = 0 having slope ; IS

ax + by + ¢ = 0, then ~areh

[

2x+3y—4=0;5x—2y+6 =0 & D0OBS DOt How Sesr — &

M EONS DY Bar HEGLD0 ax+ by +¢c =0

o S5a+6b
CEIOWIN IS T ac =
(1 7
el
27
3 =
—27
4y
4 =
Options :
1. %1
2.¥2
3.%3
4. % 4
Sub-Section Number : 3
Sub-Section Id : 632686565
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 6326865138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TOWEET Q TP 5eh (S57S02.e0 : 10)



The arithmetic mean of the first twenty natural numbers is

S0EIE3 20 DeT*e3 DOWEE ©90F D50

(1) 10
(2) 10.5
(3) 11
(4) TES

Options :

1. %1

2.¥2

3.% 3

4. % 4

Question Number : 142 Question Id : 6326865139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
PO FET R DU geh (372302, : 10)



After calculating the arithmetic mean of 25 integers as 73, it was observed
that two integers were wrongly taken 76 and -23 instead of -76 and 23

respectively. Then the correct arithmetic mean is

25 0 Sowged fen 73 ™ HS0DD. dTr5ed -76 NOO 23 OBy
22CDENTT 76 0B -23 O 3 NET) 3 HBBO0H0 2OABD. €3
AT 0Fa) AV @08 NG §NO

(1) 77.24
(2) 70.88
(3) 68.76
(4) 75.12

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 143 Question Id : 6326865140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TOWEET Q TP 5eh (S57S02.00 : 10)



The average height of 30 men is 158 cm and average height of another
group of 40 men is 162 cm, then the average height of the combined group

Is

30 SN0 H5BENR) 2.8 DT DN D) 158 0.D. B 40
OB He50eNd) RO HNFTED) AEN D) 162 V0., oI,
€503026 DTS DM DeB) (0..e>e)

(1) 161
(2) 165.16
(3) 160.28
4) 163

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 144 Question Id : 6326865141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
PO FET R eV geh (57°502.e0 : 10)



The median of the following set of observations is

: e T -, !

1508 ST04a) DG §Hed0

. LR N, - )
(1) 45
(2) 47
(3) 49
(4) 51
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 145 Question Id : 6326865142 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
O FETQ DU geh (s37°¢302.€ : 10)



The median of the following frequency distribution is

1508 P02 a)2F2acded) a0 §ieda0

Class
SHSHKR 2-616-10|10-14|14-18|18-22 |22 - 26
Frequency
2050
(1) 14.0
(2) 14.8
(3) 16.8
(4) 17.0
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 146 Question Id : 6326865143 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TOWEETQ TP 568 (S57S0ze0 : 10)



The mode of the following data is

T 13,6,9-1% 13, 5.8, 139454813, 6. 13

50d d=rodo Qg 2raavFs0
1,136,971 13 5,8, 15 145,813, 6, 13

(1) 12
(2) 13
(3) 14
(4) |

Options :

1. %1

2.2

3.% 3

4. % 4

Question Number : 147 Question Id : 6326865144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TOWEET Q TP 5eh (S57S02.e0 : 10)



The arithmetic mean and the median of a frequency distribution are 51 and

50 respectively. Then the value of the Mode is

2.8 D208 02T da)) E0ZNCEIENA B NG SHiEPen SBOMT
51o08050 50 @010 3a))C), 2V F S )

(1) 56
(2) 53
(3) 48
(4) 45

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 148 Question Id : 6326865145 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
O FETQ NP geh (s37°¢502.€ : 10)



The probability of getting 2 heads in a toss of 5 coins Is

5 PO DMDET NN 2 Fod

[

€ 03T SNENBY Ho2IIseh

E|"” @l @w v

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 149 Question Id : 6326865146 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
TPOWEET Q TP 5eh (S50 2.00 : 10)



The probability that 3 boys and 3 girls can be seated in a row such that all

the boys sit together side by side, is

SMDHE 2eN ), SMDS 27BN 2.8 SHIES St 109 ED, e7enDd

290653 D BB 0SB Ho2rged

nlw ok |k w|e

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 150 Question Id : 6326865147 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Statistical Ability (Marks : 10)
PO FET R eV geh (57°502.e0 : 10)



A bag has 4 white, Sblack and 6 red balls. The probability of drawing a ball

which is white or black is

28 HODS 4 BV, 5 IV HBOSW 6 B 20N 5. e HoD
0B 2.8 08D BVINCH @O BO B SOJIGIDS NESE

02T §ed
4
(1 :I 45
1
2 i
(2) "
4
3 =
3 3
3
4y =
) -
Options :
1. % 1
2. % 2
3.% 3
4.9 4
Communication Ability
Section Id : 63268675
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 632686566
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 6326865148 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0



Meanings (Sentences with dashes) Q.No0.151 to Q.No.155

His  services were appreciated by his colleagues.
(1)  exemplary
(2)  exorbitant
(3) careless
(4) indifferent
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 152 Question Id : 6326865149 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) Q.No.151 to Q.No.155

The change was indiscernible.

The underlined word means

(1)  That which could not be seen.

(2)  That which could not be touched.
(3)  That which could not be felt.

(4)  That which could not be talked of.

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 153 Question Id : 6326865150 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) Q.No0.151 to Q.No.155



| don’t know why she is always so belligerent towards me.
The underlined word means

(1)  Ready to suspect.
(2)  Ready to support.
(3) Ready to guide.
(4) Ready to fight.

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 154 Question Id : 6326865151 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) (Q.No.151 to Q.No.155

He turned nostalgic at the mention of school.
The underlined word means

(1) Deep rooted fear of past.
(2) Deep rooted fear of future.
(3)  Wistful affection for future.
(4)  Wistful affection for past.

Options :
1. % 1
2. %2
3.%83
4. ¥ 4

Question Number : 155 Question Id : 6326865152 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) Q.No.151 to Q.No.155



The mechanism of this watch is very intricate.
The underlined word means.

(1) limited
(2) complex
(3) functional
(4) original
Options :
1. % 1
2.92
3.% 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 632686567
Question Shuffling Allowed : Yes

Question Number : 156 Question Id : 6326865153 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to Q.No.160

Synonym of ‘incisive’

(1)  irrelevant
(2)  immodest
(3)  shallow
(4)  sharp

Options :
1. # 1
2. %2
3.%3
4. ¥ 4

Question Number : 157 Question Id : 6326865154 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to Q.No.160



Choose appropriate synonym for ‘debilitate’

) weaken

) enliven
(3)  strengthen

) stimulate

Options :
1.9 1
2.% 2
3.% 3
4. % 4

Question Number : 158 Question Id : 6326865155 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to O.No.160

Choaose appropriate antonym for ‘alacrity’

=

(1)  mediocrity
(2)  eagerness
(3)  apathy

(4)  enthusiasm

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 159 Question Id : 6326865156 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to Q.No.160



Synonym of ‘Espionage’

(1)  borrowing

(2) helping the elderly
(3) practice of lying
(4) practice of spying

Options :
1. # 1
2. %2
3.%3
4. ¥ 4

Question Number : 160 Question Id : 6326865157 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to Q.No.160

Choose appropriate synonym for deadlock.

(1) impasse

(2) break through
(3)  resumption
(4)  continuation

Options :

1.¥ 1

2. %2

3.% 3

4. % 4

Sub-Section Number : 3
Sub-Section Id : 632686568
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6326865158 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verh (Tense and Voice) Q.No.161 to Q.No.165



Both the father and his son at the gym yesterday.
(1)  have been

(2) are

(3) were

(4) was

Options :
1. % 1
2.% 2
3.3
4, % 4

Question Number : 162 Question Id : 6326865159 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong MarKks : 0

Verh (Tense and Voice) Q.No.161 to Q.No.165
She lunch just now.
(1)  has served
(2) served
(3) had served
(4)  was serving

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 163 Question Id : 6326865160 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verh (Tense and Voice) (Q.No.161 to Q.No.165



Just as | into the bathroom, all lights went off.

) got

(2)  get
)  getting
) have got

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 164 Question Id : 6326865161 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verh (Tense and Voice) Q.No.161 to Q.No.165

Insert a verb in the present tense
The Earth round the Sun.

(1) is revolving

(2) has been revolving
(3) had been revolving
(4)  revolves

Options :
1. %1
2.% 2
3.% 3
4. 4

Question Number : 165 Question Id : 6326865162 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verh (Tense and Voice) Q.No.161 to Q.No.165



Passive vaice of ‘l will contact you tomorrow.’

(1)  Tomorrow, | will contact you.

(2) Let you be contacted tomorrow.

(3)  You will be contacted by me the next day
(4) Let me contact you tomorrow.

Options :

1. %1

2. %2

3.3

4. % 4

Sub-Section Number : 4
Sub-Section Id : 632686569
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 6326865163 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Phrasal Verbs & Idioms Q.No.166 to Q.No.170
| had to to clear the competitive exams.
1 cook up

[t

3
4

call a spade a spade
burn the midnight oil

{
{
{
(

)
) build castles in the air
)
)

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 167 Question Id : 6326865164 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170



Select the most appropriate meaning of the underlined phrase

A discussion was going on whether it was ethical to delve into social
media posts to look for damaging details about an employee.

(1)  talk about

(2)  examine in detail
(3) prepare

(4) decide about

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 168 Question Id : 6326865165 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Phrasal Verbs & Idioms Q.No.166 to Q.No.170
He as soon as he heard their car turn into the drive way.
(1)  madeup

(2)  made for

(3) made off

(4) made out

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 169 Question Id : 6326865166 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170



Their government imposed emergency on account of economic crisis.
The equivalent of the underlined word is :

)  clamped down

) brought forward
(3) intended to

) plagued by

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 170 Question Id : 6326865167 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Phrasal Verbs & Idioms Q.No.166 to Q.No.170
They have  the decision for another month.
(1)  put out
(2)  putoff
(3)  putup
(4) put in
Options :
1. ¥ 1
2.92
3.% 3
4. % 4
Sub-Section Number : 5
Sub-Section Id : 632686570
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 6326865168 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175



| waited for hour and left.

an
the

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 172 Question Id : 6326865169 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175

Ganges flows through India.

(1)

(2) from
(3) an
(4)

the

da

Options :
1. % 1
2.% 2
3.% 3
4, % 4

Question Number : 173 Question Id : 6326865170 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175



Alps are in Switzerland.

) an
(2)  up

)  the

) with

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 174 Question Id : 6326865171 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175

| ran him on my way back home.

)} in
ik
(3) along

) across
Options :
1.%1
2.9 2
3.% 3
4. % 4

Question Number : 175 Question Id : 6326865172 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175



Is there university in your town?

(1) an
(2) a
(3) the
(4)  none of the above
Options :
1. # 1
2.9°2
3.%3
4, % 4
Sub-Section Number : 6
Sub-Section Id : 632686571
Question Shuffling Allowed : Yes

Question Number : 176 Question Id : 6326865173 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180

A tiny wafer of silicon containing miniature electric circuits that can
store millions of bits of information is known as

) chip
(2)  cookie
) crash
) cyberspace

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 177 Question Id : 6326865174 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180



India’s first super computer is called :

(1)  MIRA
(2)  AGNI
(3) VAYU
(4)  PARAM

Options :
1. %1
2. %2
3.%3
4. 4

Question Number : 178 Question Id : 6326865175 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology (Q.No.176 to Q.No.180

A program arranged in rows and columns that manipulates numbers

is known as
(1) tool bar
(2)  menu
(3) window
(4)  spreadsheet
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 179 Question Id : 6326865176 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180



The first mechanical computer designed by Charles Babbage was

called

(1)  Abacus

(2)  Calculator

(3)  Processor

(4)  Analytical engine
Options :
1. # 1
2. %2
3.%3
4. ¥ 4

Question Number : 180 Question Id : 6326865177 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180

A device that transfers data between computer networks to provide
access to the internet is known as

(1)  printer
(2) router
(3) hard drive
(4)  diskdrive.
Options :
1. # 1
2.%°2
3.%3
4. % 4
Sub-Section Number : 7
Sub-Section Id : 632686572
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 6326865178 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Business Terminology Q.No.181 to Q.No.185

Expected profitability of a company or a single product is assessed by
a

(1)  brand equity

(2) brand recognition
(3) business plan

(4) break-even analysis

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 182 Question Id : 6326865179 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No0.181 to Q.No.185

A type of correspondence used when a business firm has to convey a
common matter to a large audience is known as

(1) personalized correspondence

(2) routine correspondence

(3) marketing letter
)

(4 circular

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 183 Question Id : 6326865180 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No0.181 to Q.No.185



A series of workers and machines in a factory by which a succession of
identical items is progressively assembled is called

) franchise

(2)  assembly line
) production line
) supply chain

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 184 Question Id : 6326865181 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to Q.No.185

Which company / business did Elon Reeve Musk acquire in 20227

(1)  Twitter
(2) SpaceX
(3) Tesla

(4) Neural ink

Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 185 Question Id : 6326865182 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to Q.No.185



A financial statement that shows sales, cost of sales, gross margin,
operating expenses and profits or losses is known as

(1)  Inventory turnover
(2)  Market Development Strategy
(3) Income Statement

(4) Market Sales Potential

Options :

1. %1

2. %2

3.3

4. % 4

Sub-Section Number : 8

Sub-Section Id : 632686573
Question Shuffling Allowed : Yes

Question Id : 6326865183 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Question Numbers : (186 to 190)

Read the Passage and answer the questions Q.No0.186 to Q.No.190



Walls and wall building have played a very important role in Chinese
culture. Not only towns and villages, the houses and the temples
within them were somehow walled. The houses also had no windows
overlooking the street, thus giving the feeling of wandering around a
huge maze. Thus, a great and extremely laborious task of constructing
a wall that runs the length of the country must not have seemed such
an absurdity.

Various dynasties contributed to constructing and refurbishing of a
wall whose foundations had been laid many centuries ago. It was
during the 4™ and 3™ century B.C. that each warring states like Chin,
the Chao and the Yen started building walls to protect their kingdoms
both against one another and against northern nomads. They also laid
foundations on which Chin Shih Huang Di would build his first
continuous Great Wall.

Throughout the centuries many settlements were established along
the border. The garrison troops were instructed to reclaim wasteland
and to plant crops in it, build roads and canals. All these undertakings
greatly helped increase the country’s trade with many remote areas
and also with southern central, and western parts of Asia.

Sub questions

Question Number : 186 Question Id : 6326865184 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.No0.186 to Q.No.190

Chinese towns resemble a maze because

) They are walled.

) The houses there have no external windows.
(3) Walls are important for them.

) They have temples.

Options :
1. %1



2.9
3.%3
4. % 4

Question Number : 187 Question Id : 6326865185 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.No0.186 to Q.No.190

Constructing a wall that ran the length of the country

(1) was an absurd idea.

(2) was animported idea.

(3) was an easy task.

(4) made sense in Chinese culture.

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 188 Question Id : 6326865186 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.No0.186 to Q.No.190

The Great Wall of China

(1) was built by modern Chinese government.

(2) was built by a single dynasty.

(3) is asingle architectural structure.

(4) was built by the Chin, the Chao and the Yen dynasties.

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 189 Question Id : 6326865187 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Read the Passage and answer the questions (.No0.186 to Q.No.190

Crops were planted

(1) in remote villages.

(2) in cities.

(3) onreclaimed wasteland.
)

(4) along the canals.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 190 Question Id : 6326865188 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.No0.186 to Q.No.190

The Great Wall helped in

(1) developing trade inside China only.

(2) developing trade within China as well as with other lands.
(3) developing trade outside China only.

(4) coming in the way of trade.

Options :

1. %1

2.9 2

3.% 3

4. % 4

Sub-Section Number : 9
Sub-Section Id : 632686574
Question Shuffling Allowed : Yes

Question Id : 6326865189 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time : 0
Question Numbers : (191 to 195)
Read the Passage and answer the questions Q.N0.191 to Q.No0.195

Before the grass has thickened on the roadside and leaves have
started growing on the tree as is a perfect time to see, how dirty
Britain has become. The pavements are stained with chewing gum,
the gutters are full of discarded fast-food cartons. Years ago, |
remember travelling abroad and being saddened by plastic bags,
discarded bottles and soiled nappies at the edge of every road.
Nowadays, Britain seems to look at least as had.

The problem is that the rubbish created by our increasingly mobhile
lives lasts a lot longer than before. It stays in the undergrowth for
years; a reminder of what a tatty little country we have become now.

It is estimated that 10 hillion plastic bags have been given to shoppers.
These will take anything from 100 to 1000 years to rot. However, itis
not as if there is no solution to this. A few years ago, the Irish
government introduced a tax on non-recyclable carrier bags and in
three months reduced their use by 90%. When he was a minister,
Michael Meacher attempted to introduce a similar arrangement in
Britain. The plastics industry protested, of course, the idea was killed
before it could draw breath.

Sub questions

Question Number : 191 Question Id : 6326865190 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.N0.191 to Q.No.195



It is perfect time to see Britain before the trees have leaves because

(1) Britain looks the prettiest.

(2) one can see how dirty Britain is.
(3) grass will not block the roads.
(4) Britain looks tidy.

Options :
1. %1
2.2
3.%3
4, % 4

Question Number : 192 Question Id : 6326865191 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.N0.191 to Q.No.195

According to the writer

(1) Britain was better earlier, now has worsened.

(2) Britain was worse earlier, now has become better.
(3) Other countries were better.

(4) Other countries were worse.

Options :
1.¥1
2. %2
3.% 3
4. % 4

Question Number : 193 Question Id : 6326865192 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.N0.191 to Q.No.195



Micheal Meacher

(1)

(2) Tried to follow the Irish example on tax on plastic bags.
(3) Made no attempt to tax plastic bags.

(4) Gave incentive for production of plastic bags.

Did not follow any model to tax the plastic bags.

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 194 Question Id : 6326865193 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.N0.191 to Q.No.195

Passage is about

(1) The uses of plastic.

(2) Plastic revolution.

(3) The menace of plastic.
(4) Air pollution.

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 195 Question Id : 6326865194 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.N0.191 to Q.No.195



Choose the synonym for the word “tatty’.

(1) clean
(2) smart
(3) clever
(4) shabby
Options :
1. %]
2. %2
3.% 3
4.9 4
Sub-Section Number : 10
Sub-Section Id : 632686575
Question Shuffling Allowed : Yes

Question Id : 6326865195 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0
Question Numbers : (196 to 200)

Read the Passage and answer the questions Q.N0.196 to Q.No.200

Presumption is our natural and original disease. The most wretched
and frail of all creatures is man, and the proudest. He sees himself
lodged in the dirt and filth of the world, nailed and riveted to the worst
part of the universe, and yet in his imagination will be placing himself
above the circle of the moon, and bringing heaven under his feet.

It is by the vanity of the same imagination that he equals himself to
God; attributes to himself divine qualities, withdraws and separates
himself from the crowd of other creatures, cuts out the shares of
animals and distributes to them such portion of faculties and force as
himself thinks fit.

All that seems strange to us and that we do not understand, we
condemn. The same thing happened also in the judgment we make of
beasts; they have several conditions like to ours; from those we may
by comparison draw some conjecture: but those qualities which are
particular to themselves, how know we what to make of them.



Sub questions

Question Number : 196 Question Id : 6326865196 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.N0.196 to Q.No.200

In this passage, ‘presumption’ means

(1) Misunderstanding
(2) Understanding
(3) Sumptuousness
(4) Consumption

Options :
1.9 1
2. %2
3.% 3
4, % 4

Question Number : 197 Question Id : 6326865197 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.No0.196 to Q.No.200

Who or which is the weakest and the most arrogant among living
creatures?

(1) Elephant
(2) Dog

(3) Snake
(4) Man

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 198 Question Id : 6326865198 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (Q.N0.196 to Q.N0.200

Man's greatness is at its best

(1) real

(2) glorious
(3) imaginary
(4) emphatic

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 199 Question Id : 6326865199 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions Q.No0.196 to Q.No.200

We condemn what we cannot

(1)
(2)
(3) concoct
(4)

comprehend
invent

contradict

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 200 Question Id : 6326865200 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the Passage and answer the questions (.No0.196 to Q.No.200



Our judgement of the animal is

(1) practical
(2) prejudicial
(3) wonderful
(4) judicious

Options :
1. %1
2.¥2
3.%3
4. % 4



